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∂Ω
ô ���~� ó �¾�r��î �  �� � �
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ô
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( 1
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ô
1 ≤ j ≤ m

ô ��� � ��îr�u���  �� ���~�C���~� t � �M� �����¾��ëd� � ���~�_���r�~� � �Fð·�u�~�u��������ë
�   � � ë�ë�� � ��î¹���[ë � ���ìë �g�Ëv





d0 ≤ |zj − zk| ∀ j 6= k
ô

d0 ≤
îJ�ìë��

(zj , ∂Ω) ∀ j
ô

e L·m
� �~�   �

d0 ∈ IR?
+

�ìë�ï � ��î o­q �~�}� �   � � �u���  
α > 0

ô ���~� � � �P� �¾� �   îr�   � �n��� ðK�r������îr��� � ���~�±îJ� � � �u���   ëÁ� �
���~�»���r�~� � �Fð·�u�~�u��������ë ô �ìë±ë���� � ���u��� t�� ë ��� t�t ��� ë�� � � �9� � � ��� � �P���~��ë��»���r�~� � �Fð·�u�~�u��������ë �   �,îJ�ìë����¾����� � ��î
���~�u�   îJ�ìë�� � � � �����

IR3 \ Ω
�ìë t �   ð·�   ��� � �

d0/2
oCQ ë ��� �¾��ë � ���~�u� � �­� � ���~� � ë�ë�� � �r�����¾�

(2)
ô ��� � � t�t � � ëj��� � � v

m ≤ 6|Ω|/πd3
0

o 
 �   � ��� ���  uôr� � �M� t�t � �¾� � �¾�~��� � ���~��ë��2ë ��� t�t ���r�~� � �Fð·�u�~�u��������ë ô�� � � ��� ����� �	��

��&�$ o
� A �  U �"!$# Q � �¾J&%'# Q�E � U � E)( � Q #iL
V �i� �°îr�u�~�¾��� ó��

µ
���~� ��� ðK�~�u��� � �Ë�  �� � ��ó � t ��� �9� ��î ó��

εre ���~� e¡  � � t m � t � � �   � � ���  �� �������÷ò���� � � � ���~�2îr� ��� ���
Ω
� �¾��� � ���r���Tð îJ�����   �u��� ��� ���   � � t ë ô ���~�¹��� � ��ø¾îr�u���u��îr�u��� t ���~� �   
 ���Z� � t�t � ��� � �����¾��ë����

Ω
� ��í �����~� � �  ��
v

∀ x ∈ Ω
ô
t > 0

ô

curlE(x, t) = −µ(x)
∂H

∂t
(x, t) , curlH(x, t) = Jf (x, t) + εre(x)

∂E

∂t
(x, t) ,

� �~�   �
E
�ìëT���~�}� t � � �   � � ï�� t î � ��î

H
�ìëT���~� ��� ðK�~�u��� � ï�� t î e

IR3 ø¤ò � t �~��î)ï�� t îTë mpolV � ���~��ë��z� ��� � �����¾��ë ô
Jf

�ìë
���~� �¡  � � � �  �  �u���   � t � ����î¹���­���~�0ï�� t î

E
� ë � � t�t � � ë v

Jf = σE
ôZ� �~�   �

σ
  �u�   ��ë �u����ë ���~� � �¾��îJ� � ���÷ò���� � � � ���~�

� ��îJ��� �
o

|



z3+ αB3

z2+ αB2

z1+ αB1

Ω

f �÷ðK�   � IKvdQ � � �~� � � t ��� �a� îr� ��� ��� � �¾��� � ���r���Tð»� � ���  X� � � �����¾��ë o
ñ �~�u� � � ë�����î � ���~�G��� � ��øw� �  �� �¾�r� � ë�� t �r�����¾��ëz���
���~��ë��»� ��� � �����¾��ë ôi� � � �¾��ë��ìîr�   ë��Ë� � � � t ë�� t �r�����¾��ë}� �

���~� � �  ��
E(x, t) = Re{E(x)e−iωt}

� ��î
H(x, t) = Re{H(x)e−iωt} , x ∈ Ω, t > 0,

� �~�   �
ω > 0

îr�u�~�¾����ë����~�ºðK�÷ò·�u� �¡  � ���~�u� �u�Vô�� ��î����~� V^ 3 ø¤ò � t �~��î,ï�� t îTë
E

ô
H
�   �°ë�� � ����� � � v

∀ x ∈ Ω
ô

curlE(x) =
�
ωµ(x)H(x) , curlH(x) = −

�
ωε(x)E(x) .

2_� îJ�÷òZ�ìîJ���TðP���~� ��ó �uò·��ï   ë�� � ��� � �����¾� ó��
µ
� ��î¹� ��í ���Tð}���~� � �  �t¤ôJ� �l� ó � � ���¹���~� � � t�t � � ���Tð�� ��� � �����¾� � �  

E
v

∀ x ∈ Ω
ô

curl(
1

µ(x)
curlE(x)) − ω2ε(x)E(x) = 0 .

e {·m

 �   � ô

ε(x) = εre(x)+
� σ(x)

ω

  �u�   ��ë��u����ëi���~� � � � � t � � ���  �� �������÷òZ��� �·o-ñ �Më�� � t�t �   ��ë �u  � ó �n�~�¾�9øw�   �÷ò�� � tyó �¾�r��î �  ��
� �¾��îJ�������¾��ë � �  

E × ν
ô �¾�����~� ó �¾�r��î �  ��

∂Ω
ô �����   îr�   ��� �  �  �÷ò·� � �]� �   ��� � � t �   �~�¾�9øw�   �÷òZ� � t ë�� t �r�����¾��ë]���

(3)
o

q �~���¾�r� �_�   î
�r�r�����~�  ���� t ���
Ω
�ìë'îr�u�~�¾����î ó��

ν
o

S �u�
µ0 > 0

ô
εre
0 > 0

ô[� ��î
σ0 ≥ 0

îr�u�~�¾���»���~�G���  �� � ��ó � t ��� �Vô ���~� e¡  � � t m ���  �� �������÷òZ��� �Vôn� ��î����~� � �¾�9ø
îJ� � ���÷òZ��� � � � ���~� ó��¾��í ð   �¾�r��î � ��îJ��� � ôØ� �����

ε0 = εre
0 +
� σ0

ω

���~� ó��¾� í ð   �¾�r��î � � � � t � � ���  �� �������÷òZ��� �·o}S �u�
� t ë��

µj > 0
ô
εre
j > 0

ô
σj ≥ 0

� ��î
εj = εre

j +
� σj

ω

îr�u�~�¾���P���~�P���  �� � ��ó � t ��� �Vô ���~� e¡  � � t m ���  �� �������÷ò���� �Vô ���~�
� �¾��îJ� � ���÷òZ��� �Vô,� ��î
���~� � � � � t � � �Ë�  �� �������÷òZ��� � � � ���~�

j
��� � � ���  X� � � �����¾�

zj + αBj
o f �   ë�� � � t � � ��� �VôR� ��ë�� � t�t

� ë�ë�� � �Á�~�   ����� � � � t�t ���~��ë��Á� �   � � �u���   ë �   � � �¾��ë�� � ����ë o�V ���   �yîJ� � ��������ëj���~�Á�r��� � � � �ìë�� � �¾��ë�� � ��� ��� ðK�~�u��� �
���  �� � ��ó � t ��� �

µα
� ��î����~�l�r��� � � � �ìë�� � �¾��ë�� � ��� � � � � t � � ���  �� �������÷òZ��� �

εα
v
∀ x ∈ Ω

ô

µα(x) =





µ0, if x ∈ Ω \ Iα ,

µj, if x ∈ zj + αBj , 1 ≤ j ≤ m,
εα(x) =





ε0, if x ∈ Ω \ Iα ,

εj , if x ∈ zj + αBj , 1 ≤ j ≤ m.

V �Ë� � � t�t � � ���~�0îr��ð·�u�~�   � ��� �M� ë��
α = 0

ô ���~�u�G���~� � �r� � �����¾�
µα(x)

� ��� � t ë[���~� � �¾��ë�� � ���
µ0
� ��î����~� � �r� � �����¾�

εα(x)
� ��� � t ë]���~� � �¾��ë�� � ���

ε0
o

�



q �~��� t � � �   � � ï�� t î îr�u�~�¾����î
Eα

ô �������~�l�   ��ë��u� � ��� � � � �Ë�  X� � � �����¾��ë ô �ìëC���~�2ë�� t �r�����¾�
��� v




curl( 1
µα

curlEα) − ω2εαEα = 0
���

Ω
ô

Eα × ν = g
�¾�

∂Ω
ô

e¡|�m
� �����

g
� ðK�÷ò·�u�)î � ��� � �¾�

∂Ω
o

q �~��� t � � �   � � ï�� t î îr�u�~�¾����î
E0

ô �������~� ��ó ë��u� � ��� �a� t�t � � �Ë�  X� � � �����¾��ë ô ë � ���ìëhï���ë v




curl( 1
µ0

curlE0) − ω2ε0E0 = 0
���

Ω
ô

E0 × ν = g
�¾�

∂Ω
o e �·m

< 	����K�!��" #%$&���'�;���/4È"����q$��6� �
	)����" 
�#'��
�� ���2����$&�%$&� � 	������R��"�#
���'� �È�¿�&$&�����
�¡#%$&� �'���

ñ � � �¾��ë��ìîr�   ���»���r�ìëpë�� � �����¾�G���~� � � ��í �   � órt � � ë � ë ë�� � � � ����î � �����
(4)
� ��î

(5)
  ��ë���� � ���÷ò·� t��Vôr� ��î � � � ë �Z� �9ø

���¾��� �b� �  �� � t �­� �   ���   ���  :ó�� �����¾��ëC���
���~�l� t � � �   � � ï�� t î��������~�l�   ��ë��u� � �Á� � � � ���  X� � � �����¾��ë o
� A
� ( � U �	� #¾I����
�qJ �iJ %'# Q�E � U � E ( � Q #¾L
S �u�

H(curl ; Ω) = {u ∈ (L2(Ω))3 ; curlu ∈ (L2(Ω))3 }

ó �]�u��îr� � ��î � ����������ëd��ë�� � t 
 �  �� ����� � ���   �yîJ� � �`îr�u�~�¾����îP�~�   � ó��
( . , . )H(curl; Ω)

oEq �~� � �  �  ��ë����¾��îJ���TðÁ�~�  ��
�ìë'îr�u�~�¾����î ó��

‖ . ‖H(curl; Ω)
o 2n�»  �u�   ��ë��u�������Tð����~��ë��  X�w�¾� ��îJ�÷ò·�   ð·�u� � � ó��

div∂Ω
ôJt �u�]��ë � �¾��ë��ìîr�   ���~��ë�� �¾� �

TH− 1
2 (div ; ∂Ω) = {q ∈ (H− 1

2 (∂Ω))3 ; div∂Ω q ∈ H− 1
2 (∂Ω), q · ν = 0

�¾�
∂Ω},

� �����»����ë[��ë�� � t �~�  �� îr�u�~�¾����î»�~�   � ó��
‖ . ‖

TH
−

1
2 (div ; ∂Ω)

oiq �~��ò·� � ���   ï�� t îTë
Eα
� ��î

E0
ô ë � ���ìë �¡� ���Tð

(4)
� ��î

(5)
  ��ë��Ë� � ���÷ò·� t��Vô~� � t�tKó �ºë��¾�TðK���C���

H(curl; Ω)
ô~� ��î¹���~��î � ��� �

g
� � t�tKó �T� ��í �u�
���

TH− 1
2 (div ; ∂Ω)

odf �  
ë�� � � � î � ��� �

g
ôrt �u�C��ë � �¾��ë��ìîr�  

ug ∈ H(curl; Ω)
ë�� � �
��� � � e ë�� �l� o ð o � ���¡mpv





ug × ν = g
�¾�

∂Ω
ô

‖ug‖H(curl; Ω) ≤ CΩ‖g‖
TH

−
1
2 (div ; ∂Ω)

ô e y·m
� �~�   �

CΩ > 0
�ìë �»� �¾��ë�� � ���2îr�u���u��îJ���Tð��¾� t�� �¾�

Ω
oºñ ����� ���~�P� � ���u��ë����¾� ï�� t î

ug
ô ���~��îr�u���  �� ��� � �����¾��� �

Eα
ë � ���ìë �¡� ���Tð

(4)
�ìë   ��îJ� � ��î����P���~�b�   � órt � � ��� � � � �¾��ë��ìë���ë�� � ï~��îJ���Tð

Eα
ë�� � �
��� � � v





curl( 1
µα

curl Eα) − ω2εαEα = − curl( 1
µα

curlug) + ω2εαug
���

Ω
ô

Eα × ν = 0
�¾�

∂Ω
o e � m

Qjt ë�� � ����� ���~��ë � � �}� � ���u��ë����¾� ï�� t î ô ���~�¡îr�u���  �� ��� � �����¾�>� �
E0

ë � ���ìë �¡� ���Tð
(5)
�ìë   ��îJ� � ��î9���»���~�­�¾�~�­��� � �

� �¾��ë��ìë���ë�� � ï~��îJ���Tð
E0

ë�� � �
��� � � v




curl( 1
µ0

curl E0) − ω2ε0E0 = − curl( 1
µ0

curlug) + ω2ε0ug
���

Ω
ô

E0 × ν = 0
�¾�

∂Ω
o e N·m

y



� �d� �¾�   ë�� ôTí �~� � ���Tð
ug

ôJ� �r� t �
Eα
� ��î

E0
�   �b��� �¾� � �   î � � � � � �����

(7)
� ��î

(8)
  ��ë��Ë� � ���÷ò·� t��Vô~� �2îr�u���  �� ���~�

���~�l�r� � ë�� �M� t ï�� t îTë v
Eα := Eα + ug , E0 := E0 + ug .

e H·m
q �~��ë���ò·� � ���   ï�� t îTë

Eα
� ��î

E0
� � t�t5ó ��ë��¾�TðK�������

H = {u ∈ H(curl; Ω) ; u × ν = 0
�¾�

∂Ω } .

f �  
g

ðK�÷ò·�u�����
TH− 1

2 (div ; ∂Ω)
ôZ� ��î����~�   � � �   �

ug
� ��í �u� � ëa���

(6)
ô ���~� � � ��í}� �  �� � t � �����¾� � ë�ë � � � � ����î � �����

(8)
� �¾��ë��ìë���ëC� � ï~��îJ���Tð

E0 ∈ H
ë�� � � ��� � � v

∫
Ω

1
µ0

curl E0 · curl v dx − ω2
∫
Ω ε0E0 · v dx =

−
∫
Ω

1
µ0

curlug · curl v dx + ω2
∫
Ω ε0ug · v dx ∀ v ∈ H .

eXIMx·m

q �~� � � ��íG� �  �� � t � �����¾� � ë�ë�� � � � ����î � �����
(7)
�ìë'îr��ï~�~��î��������~�°ë � � � �_�M�·o

f ����î
Eα ∈ H

ë � ���ìë �¡� ���Tð v
∫
Ω

1
µα

curl Eα · curl v dx − ω2
∫
Ω εαEα · v dx =

−
∫
Ω

1
µα

curlug · curl v dx + ω2
∫
Ω εαug · v dx ∀ v ∈ H .

eXIKI m

���������
	���
���� $ 
%"0� � �	�! ��$ 
����1. � ��� &+����� 
%"0� �� � ���$ 

�
.+� "�� � &+
%"0�� !�  ,�  ,
%"0.+
��
k2 = ω2µ0ε0

�  ,
 .
����$  !����"


%"'.+

(10)

"'.� .��'$ �������  �&�� �0

��&�$ �

q �~� � � �ìë����u� � � � ��î��r�r�����~�u�~��ë�ë¹� � ���~� ë�� t �r�����¾��� �
(11)

� � t�tºó �)ë���� � �Ìï���î��������~�9�~� � �,ë�� ó ë�� � �����¾� e ë�� �
q �~� �   � �

3.1
mpo

� A � BDC"! �$# � ����� E ( � U �	� #¾I&% � U  Q�U � � U !`I ��� ��J C

f �   �Ë�   ���  :ó�� �����¾��ëT��� ���~�z� t � � �   � � ï�� t î îJ�~�Á�������~�Á�   ��ë��u� � �­� � � � ���  X� � � �����¾��ë ôR� � � �¾��ë��ìîr�   �~�   � � � � � � t ø
�Fð·�¾��ë � ë �Z� �r���¾��� � � � � � ��ë����¾�½���G���~� � �  �� � t � �   �¾���\ë���î ó�� 
 o�Qj�P���   � ô 
)o�WËo � �Fð·� t ����ë � `}o � � t÷í �uò � |�� o
S �u�C��ë�ï   ë��]�����   �yîJ� � �°ë�� � � � îTîJ�������¾� � t �~�¾� � �����¾� � ��î îr��ï~�r�������¾��ë o
S �u�

{γn}0≤n≤m
ó � � ë��u��� �}� � � � t � ��� �¾��ë�� � ����ë � �����

Re(γn) > 0
ô�� �  

0 ≤ n ≤ m
o qa� �r� �M� t�t��Vô

{γn}0≤n≤m
� � t�tyó �   � t � ����î­���j�u�����~�   ���~�pë��u�

{µn}0≤n≤m
�   ���~�Më �u�

{εn}0≤n≤m
oif �  E� � � ï � ��î

1 ≤ j0 ≤ m
ô

t �u�
γ

îr�u�~�¾�������~� � �r� � �����¾�)îr��ï~�~��î � ë v
∀ x ∈ IR3 ô

γ(x) =





γ0, if x ∈ IR3 \ Bj0 ,

γj0 , if x ∈ Bj0 .

S �u�
1 ≤ l ≤ 3

o�ñ ��îr�u�~�¾��� ó��
φl

���~�°ë�� t �r�����¾�
���P���~�b�   � órt � � ë�� � �
��� � � v




div (γ0 gradφl) = 0
���

IR3 \ Bj0

ô

div (γj0 gradφl) = 0
���

Bj0

ô

φ+
l − φ−

l = 0
�¾�

∂Bj0

ô
γ0
γj0

(
∂φl
∂ν )+ − (

∂φl
∂ν )− = 0

�¾�
∂Bj0

ô

φl(x) − xl → 0
� ë

|x| → ∞
o

eXIML·m

�



V �
(12)

ô ���~���¾�r� � �   î �r�r���Á�~�  ���� t ���¹���~� ó �¾�r��î �  ��
∂Bj0

� �
Bj0

�ìë � t ë�� îr�u�~�¾����î ó��
ν
ôØ� ��î½���~�[ë��r���   ø

ë �u  ���r��ë
+

ô
−
����îJ� �M� ���l���~� t � � �������Tð[ò � t �~��ë � ë

∂Bj0

�ìë � �r�   � �¾� �~��î �g  � � �¾�r��ë��ìîr�
Bj0

ô~� ��î �g  � � ����ë��ìîr�
Bj0  ��ë���� � ���÷ò·� t��·oaQ ë � �u�������¾�~��î���� � | �¾ô ���~�l� � �ìë����u� � � � ��î»�r�r�����~�u�~��ë�ë]� �

φl
�M� � ó �b��ë�� ��órt �ìë��~��î e ���¹���~�   � � tU� ë

� � t�ti� ë �������~� � � � � t � ���M� ë � mMó�� ��ë����Tð[ë����Tð t � t � � �   ���¾���u����� � t ë � ����� ë��r��� ��órt��»� �~�\ë��u� îr�u��ë���������ë e � IMx	�¾ô � IML��¡mpo
q �~� � �r� � �����¾�

φl

îr�u���u��îTën�¾� t�� �¾�
γ0
� ��î

γj0

���   �¾�TðK�¹���~�   � �����
c =

γ0
γj0

o 
 �   � ô ���~����ë�ë �u����� � t,� ë�ë�� � �r�����¾�
�ìë]��� � �C���~� � �¾��ë�� � ���

c
�M� �r�~�¾� ó �ºöM�   ���  j� �~��ð � ���÷ò·�   � � t ��� �°ó �  MoMñ ���������r�ìë � ë��Ë� � �   � ����� ô�� �2îr��ï~�~� e � ë

����� |��¡m ���~�l��� t �   �÷ö � �����¾� ���u��ë �  uô
M j0(c)

ô � � ���~�l���r�~� � �Fð·�u�~�u��� �
Bj0

� ë � � t�t � � ë v
∀ 1 ≤ i, l ≤ 3

ô

M j0
il (c) = c−1

∫

Bj0

∂φl

∂xi
dx .

eXIM{·m
f � t�t � � ���Tð � | �¾ô ���~�l���u��ë �  

M j0(c)
�ìë0ë ���P� �u�   � �\ôR� ��î��ìë � �   ���~�  �� �   �����\ë������÷ò·��îr��ï~�r������� �

c ∈ IR?
+
o

S �u����ë]�����   �yîJ� � � ôr� �  
x 6= z ∈ IR3 ô ���~��ë �M� t �  ]� �r� � �����¾�

Φk(x, z) =

� � k|x−z|

4π|x − z|
,

� �����
���~� � �¾��ë�� � ���
k

îr��ï~�~��î � ë]��� h � ���  :í
3.1
o � �E� �¾�   ë�� ô

Φk �ìë � �w�¡  � ��ë�� �¾� ��� �   � �u� �»ë � �r� � �����¾� � �   ���~�

 � t�� �~� t �:öÁ�¾�Ë�   � ���  

∆ + k2 ô � o � o÷ô ���'ë � ���ìë:ï���ë v
(∆ + k2)Φk(·, z) = −δz

���
IR3 .

S �u�C��ëC�~� � îr��ï~�~�l���~� ��� �   � � ò � t �~��î � �r� � �����¾�
G(x, z)

ô~� �  
x 6= z ∈ IR3 ô~� ë

G(x, z) = −µ0(Φ
k(x, z) I3 +

1

k2
D2

xΦk(x, z)) ,

� �~�   �
D2

x

îr�u�~�¾����ë}���~� 
 ��ë�ë�� � � ôa� ��î
G(x, z)

�ìë � �w�¡  � �,ë�� �¾� ��� �   � �u� �»ë � �r� � �����¾� � �   ���~� �¾ó��¾��í ð   �¾�r��î��
� t � � �   � � �   � órt � �
v

curlx (
1

µ0
curlx G(x, z)) − ω2ε0G(x, z) = −δzI3 .

q �~���¾���   � ���  
curlx

� �r� t ����ë��~�   �b��� ��� �   � � ��ë ô~� � t � � �9ø ó�� ø � � t � � � o
S �u�j��ë��~� �5  � � �¾��ë��ìîr�   ���~���r� � ë�� �M� t ï�� t îTë

Eα
� ��î

E0
îr��ï~�~��î9���   �¾�TðK�9���~�°ò·� � ���   ï�� t îTë

Eα
ô
E0
�g  � �

(9)
oPQ�t ���~�¾�TðK�½���~��ë��¡ò·� � ���   ï�� t îTë ôØ� ë � � t�t_� ë

ug

ðK�÷ò·�u� ���
(6)

ô � � ò·� ó � �u�Èîr��ï~�~��î>�¾� t�� ��� �G� � ��í ë �u��ë��
�¾�

∂Ω
ô � t�t ���r��� �}  ��ðK� t �   ��� �9  ��ë�� t ��ël�u��ë��   �}��� � �

ug
ô
Eα

ô
E0
�   �­���9ï~�r����� t�� ë � ���¾��� ò·� � ���   ï�� t îTë e¡� �~�u�

g
�ìë

���9ï~�r����� t�� ë � �Z�¾��� m]� ��î����~�   � � �   �l���~�b���  ��
( 1
µα

curlEα − 1
µ0

curlE0)|∂Ω
�ìë]���9ï~�r����� t�� ë � �Z�¾��� o

q �~� �¡  � � � � �  :í � � ���r�ìëC� � ���   �ìëj���~� ��� ���   ��ë�� t ���   �¾���\ë���î
��� � |�� opñ �   � �M� t�t-ó � t � � ���r�ìë   ��ë�� t � � �r� � �
��ë�� ��órt �ìë��~��ë � � � ë �Z� �r���¾��� �Á� �  �� � t ��� �   ë�����î � ���Tð»���~�Á���   ���  :ó�� �����¾�

( 1
µα

curlEα − 1
µ0

curlE0) × ν|∂Ω
ô ���

���~�l� � �Tð·�u����� � tqó �¾�r��î �  �� �   �¾� �Á� � ���~� � �  �t � � ���~��� t � � �   � � ï�� t î îJ�~�l���P���~�b�   ��ë��u� � ��� � � � ���  X� � � �����¾��ë o
��� ��� �"� � � 
 ��� ��


(2) � �  �.+

�  %���	�
� .�$ �
k2 = ω2µ0ε0 � �#
 .
����$  ��0��" 
%"'.+


(10)
"'./ . �'$ �������  �&�� �'

��&�$ �

� "0����� �
	��  �
% 
α0 > 0

 !����" 
%"'.+
 ��(����/��$ .+$ .�� � �%

�	.���� g ∈ TH− 1
2 (div ; ∂Ω)

� .�$ � .+$ �
0 < α < α0

� 
%"0�

� &��'$ � .+� �
�/.�� � � � �1& � � � � (4)
"'./ �.3�'$ ��������� � �	. �
�  �&�� �'

��&�$ � � "0� ��&�$� �
 .�$ 


α0
�)� � ��$ �/ &�$

{Bj}1≤j≤m

�
Ω
�

{µj}0≤j≤m
�
{εj}0≤j≤m

�
ω
� .+$ �

d0
� � �0
 �  �& 
%"0����� �  ��� $*�)� � ��$*�)��$ 
�& � 
%"0� � &�� $ 
% zj

�
1 ≤ j ≤ m

� � ��

Eα

N



�)��$*&+
-� 
%"0�#� $ ����� � ��� �	.
�
�  �&+� �0

�
&+$ 
 &
(4)

��.�$ � ����

E0 � � 
%"0�#�'$ ������� � � �	. �
�  �&�� �'

��&�$ 
 & 
%"�� � &��'$ � .+� �

� .�� � � � �1& � � � � (5)
��&��!���! � &�$ ���%$ (#
 & 
%"0�� �. � �

g ∈ TH− 1
2 (div ; ∂Ω)

� � &�� .+$ �
z ∈ ∂Ω

� � � 
%"���$ "0. �/���

( 1
µα

curlEα − 1
µ0

curlE0)(z) × ν(z)

− 2

∫

∂Ω
curlz(Φ

k(x, z)( 1
µα

curlEα − 1
µ0

curlE0)(x) × ν(x)) × ν(z) dσx =

2α3ω2
m∑

j=1

(µ0
µj

− 1)G(zj , z) × ν(z)M j(µ0
µj

)(curlE0)(zj) +

2α3ω2ε0

m∑

j=1

( 1
εj

− 1
ε0

)((curlx G)(zj , z))T × ν(z)M j(ε0
εj

)E0(zj) + O(α4) .

eXIu|�m

� "0� 
-��� � O(α4)
�  � &�� $*�)�	� � � C α4 ��� $ � ��&�� � � �3� $

z
� � "0� � &/ !�


���/����&�$� �
 .�$ 


C
�)� � ��$ �/ &�$

{Bj}1≤j≤m
�

Ω
�
{µj}0≤j≤m

�
{εj}0≤j≤m

�
ω
�
‖g‖

TH
−

1
2 (div ; ∂Ω)

� .�$ �
d0
� � �0
 �  &+
%"0����� �  �� � $ � � � ��$ � ��$ 
 & � 
%"0� � &��%$ 
% zj

�

1 ≤ j ≤ m
�

V � �M� ���~� � ó ��ë���� � �Ìï���î������ �   ��� � � t �   ��� � �C���~� � �¾��ë��ìîr�   � �����¾� � �
k2 ë�� � ����� � �C���~� � � ��íG� �  �� � t � �����¾�

(10)� � ë � �r�r�����~�[ë�� t �r�����¾�>�ìë � t ë�� � � � �Ë�¾���~��ë��ìë t � � îJ���Tð
���¹���~��� � �ìë����u� � � � ��î½�r�r�����~�u�~��ë�ëz� � ���~�[ë�� t �r�����¾��� �
���~� � � ��íG� �  �� � t � �����¾�

(11)
o

V �
(14)

ô�� ��î �~�   � ��� ���  uô ���~�°ë��r�Ë�   ë �u  ���r� �
T
��îr�u�~�¾����ëj���~���   � ��ë����\ë�� o q �~� � � t�t � � ���Tð   ��ë�� t ���ìë �P� �¾��ë���ø

���~�u� � ��� �Eq �~� �   � �
3.1
� ��î��ìë �   ��ë��u������î ��� � | � � ë �¡ó�� ë��ìë � �   ë � � � � �r�   � � � ��� ���Á����ò·�   ë����¾�
��� � �r�r�����~��ë o

� � � ����� ������� 
�� � ��
 �  ��&�$� ��
�)��� 
%"0��./ ! !� ��� 

�
&�$  �& � � "0�	&���� � 3.1
� .+$ � � ��$ &+
-� � � w

.�$ �3 � & &+
%" ���	��
 &��	�
� .�� � �	� �!�'$ ��

��&�$  !����" 
%"'.+
��

curl(curlw) − k2w = 0
� $

W ,
eXIM�·m

� "0�����
W

�  �.�$ & � ��$ $*��� (/" � &���"0& & � & �
Ω
� � "0������� 	��  �
% . ��&�$� �
 .�$ 


α0 > 0
�)� � ��$*��� $'( &�$

{Bj}1≤j≤m

�
Ω
�

{µj}0≤j≤m

�
{εj}0≤j≤m

�
ω
��.�$ �

d0
� � �'
 �%$ �)� � ��$ �)��$ 
�& � w

� & ��
%"�� � &��%$ 
% zj

�
1 ≤ j ≤ m

� .�$ �# !����" 
%"'. 


��&�� . (+� �/��$
g ∈ TH− 1

2 (div ; ∂Ω)
.+$ � .+$ �

0 < α < α0
� 
%"0� � "��/ !����.�� � ������ Eα

.�$*�
E0

 �. 

�  � ���
∫

∂Ω
curlEα × ν · w dσ −

∫

∂Ω
curlw × ν · (ν × (Eα × ν)) dσ =

α3
m∑

j=1

ω2ε0µ0(
ε0
εj

− 1)
[
M j(ε0

εj
)E0(zj)

]
· w(zj) +

α3
m∑

j=1

(
µ0
µj

− 1)
[
M j(

µ0
µj

) curlE0(zj)
]
· curlw(zj) + O(α4) .

eXIMy·m

q �r�ìë�ë�� � ��� � �u���a�   ��ë��u����ëa� ��� �¾�   ë � � ò·�   ë����¾��� � ���~� ó �¾�r��î �  �� ���   ���  :ó�� �����¾�����P���~� � �  �t � � ���~�]� t � � �   � � ï�� t î
� ��î � �r�Ë� �   ë � � t�t ë��r������î9��� � �r� t � �M� �����¾��ë�ë���� � � ô�� ë�ë��~� � � ��� � y��¾ô ��� � t�t � � ëj��ë ô�� ����� ���~�z�~� t � � � ����ò·�   ë����¾�
�   � � ��ë�ë���ë ô ��� t � �M� t �÷öM�l���~�l� � ���  X� � � �����¾��ë �¡  � � ���~� � �¾��ë��ìîr�   � �����¾�9� � ë�� � �2ë���� � � � t ����ë��%ï�� t îTë

w
o
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V �
��� � �   � �M� t � � �Ë�   � � �u����ëT� � ���~� t � �M� t �÷ö � �����¾� � � ���~��� � ���  X� � � �����¾��ë ô�� � � � t�t ��ë������~� � ë ��� �r���¾��� ��� �  �� � t �
(16)
� ��î ���~�   � � �   � � îJ�ìë �u  �u���±ï�� t î � ë�ë�� � � � ����î � �����½���~�±ë � t �r�����¾�>� � ���~� � � ��í9� �  �� � t � �����¾�

(11)
oPV � ���r�ìë

H



� �   � ôd� �õï   ë��¡îr��ë �u  � ó � � �~�¾�9ø¾ë�� � ��î �   îÀ�   � � �TðK� t � �����¾�§�   � � ��ë ë­� � ���~�¸îr� ��� ���
Ω
o q �~�u� ôd� �����À���~�»�~� t �

� ��� ï~�r�����
� t � � �u��� � �u���~��î ó�� ë���îº�¾� � � ��ë���� ó � � ���~��î �g  � � ���r�ìë��   � � ��ë�ë ôn� �������   ��îJ� � � ���~� îJ�ìë �u  �u���
� �  �� � t � �����¾� � ë ë�� � � � ����î � �����

(11)
o

� A
�  UHQ #
� � �iJ�I U � Q�C

V �¼�   îr�   ��� ë�� � � t � �g� ���~�>�   ��ë��u��� � �����¾� ôl� � � ë�ë�� � � ô �������r�ìë)ë�� � �����¾� � ��î ���¼���~� � � t�t � � ���Tð��¾�~��ë ô ��� � �
� �¾� ��� � �Ë�  X� � � �����¾�)�   ��ë��u���z���>���~�õîr� ��� �����ìë � ��� t�� �~��î   �¾� o¹\ ë�� � t�t��Vô � �~�u� � � �   � � �¾� � �   �~��î � ����� ���~�
îJ�ìë �u  �u���÷ö � �����¾�P� ��� �~�¾�r�~� � �Fð·�u�~� �¾��ë � � ��íl� �  �� � t � �����¾� ô ë�� � � � ë

(11)
ô¾� � � �¾��ë��ìîr�  E�]� ��ë�� � �r� � �}� � � t � � ��� t��

� ��í ��ëb������� �¾� � �¾�r�������~�­���r�~� � �Fð·�u�~�u��������ëÁ� � ���~��îr� ��� ��� o­qa� �r� �M� t�t��Vô ���~� � �¾� � �  �� ���Tð � ��ë��½� �
Ω
�ìë ��� îr�

�r�º� � ���u�   � �~��î   � ��� ë�� � � � � � � ��� � �P���~� � � t�t � � �����¾��� � ���u�   � �~��î   �>� ë�ë�� � � � ����î � �����%� �¾� �º� � �Ë�  X� � � �����¾�
� �uò·�   ë­�u�����   � t�� ���~�±ð·� � � �u�  �� � � ���~��� � ���  X� � � �����¾� � ��î � �¾��ë��������r����ëz��� � �   ��� � � t �  P��� �¾� � �  �� ���Tð � ��ë��)� �
���r�ìë]� � ���  X� � � �����¾� o[V �,ð·�u�~�   � t¤ô ���r�ìë � �¾� � �  �� ���Tð � ��ë��
� �

Ω
  ��ë�� t ��ë �g  � �
� �   � � �TðK� t � �����¾�

Tα

� �
Ω
� �r� � �
�ìë

  ��ðK� t �   ��� ���~�°ë��u��ë������ � �C���~�   �Á� � �ìë���ë ��� �¾��ë�� � ���
c > 0

ë�� � � ��� � �
supK∈Tα

hK
%K

≤ c
ôr� �~�   �

hK

îr�u�~�¾����ë
���~�[îJ� � � �u���   � � ���~�����u�   � �~��î   �¾�

K
� ��î

%K
�ìë����~�[îJ� � � �u���   � � ���~� t �   ð·��ë���ë��r�~�   �P��� �ut ��îr��î ���

K
o 2n�

� � �°ó ���r���TðÁ���r�ìë � �¾� � �  �� ���Tð � ��ë���� �
Ω
� ��������î9ð·� � t � � �u����ë e ë�� � kTs î sut � � � IMN �¡m�ô¾� � �M� �P�����   �yîJ� � � e � ëE����� y��¡m
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l = 1

e ï   ë�� t ��ò·� t mT� � t � � � ô
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^ �¾��ë��ìîr�   ���~� � � t�t � � ���Tðõò·� � ���   � � t ë�� ó ë�� �¾� ��ë e ë�� � kTs î sut � � � IMN��¡mpv
S1 = {u ∈ (P̃1)

3 ; u · x = 0} , R1 = (P0)
3 ⊕ S1.
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, uhl

× ν = 0
�¾�
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K ∈ Thl
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(11)
ô�� ��î ó�� ë ��î»�¾�����r�ìë   ��îJ� � ��î � ��ë�� ôJ� �¾��ë��ìë���ëC� � ï~��îJ���Tð

Ehl
∈ Hhl

ë�� � � ��� � � v
∫
Ω

1
µα

curl Ehl
· curl vhl

dx − ω2
∫
Ω εαEhl

· vhl
dx =

−
∫
Ω

1
µα

curlug · curl vhl
dx + ω2

∫
Ω εαug · vhl

dx ∀ vhl
∈ Hhl
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�r�r�����~�u�~��ë�ë]� � ���~�ºë�� t �r�����¾�
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� �¾� ���   � � ��îJ�   � oGq �~�¡ï   ë��2ë�� � ð·���ìël��� � �Á� � ���~�P� t�t � � ��� � �����¾�)� � ���~�[îr� ��� ��� �g  � ���»� � t�t ø � �~�\ë��u�ûë��u�������Tð
� �����¹��� � �ìîr�u��� � � ò·��ë o[q �~��ë�� � �¾��î,ë�� � ð·� � �¾� � �   ��ë ���~� � � � �r�r� � �����¾�
� � ���~�ºîJ�ìë �u  �u���l� t � � �   � � ï�� t î ô ���   �¾�TðK�
���~� � �  �� � t � �����¾�

(17)
ôU� ��î � �   � �¾� � � �r� t ����î ó �¾�r��î �  �� � �  �  �u��� o�q �~�­���r�   î ë�� � ð·� ����í ��ëb��ë �z� �`ó �¾��� ���~�

� ë �Z� �r���¾��� �_� �  �� � t �
(16)
� ��î­���~�%îJ�ìë �u  �u���]� t � � �   � � ï�� t î ô·� ë � � t�t�� ë � �   ��� � � t �   ����ë���ï�� t îTë ô¾� �   ���~� ��� � �   � �M� t

��ò � t � � �����¾�)� ��ó �¾�r��î �  ��>� � � ë��   � � �u����ë o
q �~� t � ë��°ë�� � ð·���ìëz���~� � �r� t � �M� �����¾�§� � ���~� � �¾��ë��ìîr�   ��î ����ò·�   ë����¾�
�   � � ��ë�ë o
V �½���~�[ë�� � �¾��î½� �   �z� � ���r�ìë2ë � � �����¾� ôU� ���   ��ë��u���Á���~�P��� � �   � �M� tn  ��ë�� t ��ëÁ� ó � � ���~��î �g  � � ���~�P�   � � ��îJ�   �

ó�� ë���îP�¾�P���~� ^ �  �  �u��� Od  ����� � �����¾� � �u���~�yî ô � � � � t��­� �~�u�P���~�'îr� ��� ��� � �¾��� � ����ë � ë����Tð t � � � �Ë�  X� � � �����¾� odq �~�
  ��ë�� t ��ëC� � ���~� t � �M� t �÷ö � �����¾� � �E� � t ����� t ��� � ���  X� � � �����¾��ë �   ��îr��ë �u  � ó ��î��������~�l���r�   î�� �   �C� � ���~�2ë�� � �����¾� �g  � �

IM{



���~�z�   � � ��îJ�   � ó�� ë���î �¾�9���~� 
 \bWZV�^¼� �r�   � �¾� � ôØ� ��î ��� ���~� t � ë���� �   �l� � ���~��ë�� � �����¾� �¡  � � ���~�z�   � � ��îJ�   �
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(p1, p2, p3)
T = (0.23,−0.31, 0.15)T � ��î � �a  � îJ����ë α = 0.02
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S �u�}��ë¡ë���� � � �¡� ��� � �­��� � � � � �   �ìë��¾� � �����À���~��� � ���  X� � � �����¾��ë � �¾��ë��ìîr�   ��î���� � y��¾ô ���~�\ë��G�   ��ë��u���­���)���~�
��ó �uò·� � �¾�9ï�ðK�   � �����¾��ë �   ���¾�~���   îr�   � �E��� ðK�r������îr�°ë ��� t�t �  Mo
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ñ �2îr��ë �u  � ó �l���
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� �  �� � t �

(16)
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� �u�����   � � ���~�l� � ���  X� � � �����¾� o q � ó ��ðK��� ô�t �u����ë   � �M� t�tqór  ����� � �~� � ���~� � �  �� � t �
(16)
�ìëC��ë���î opñ �2îr�u�~�¾��� ó��

p = (p1, p2, p3)
T ���~� � �u�����   � � ���~�n� � �Ë�  X� � � �����¾� ôFó�� M

����ë �   ��ë �M� t ��î��[��� t �   �÷ö � �����¾�­���u��ë��  
(µ0
µ1

−1)M1(µ0
µ1

)
ô

� ��î ó��
N
����ëa�¾���~�  ��   ��ë �M� t ��î��]��� t �   �÷ö � �����¾�����u��ë��  

(ε0
ε1

−1)M1(ε0
ε1

)
o-ñ �~�u� � �]�~��ð t � � �a���~� � ë ��� �r���¾��� �M� t�t��

ë ��� t�tU  � ��� ����îr�   ���  �� ���
(16)

ô ��� � � t�t � � ëC��� � � v

Γ :=

∫

∂Ω
curlEα × ν · w dσ −

∫

∂Ω
curlw × ν · (ν × g) dσ ≈

α3k2 (N E0(p)) · w(p) + α3 (M curlE0(p)) · curlw(p) ,

eXIMN·m

� �����
w
� � � ë � ���¾��� ò·� � ���   ø¤ò � t �~��î � �r� � �����¾� ë � ���ìë �¡� ���Tð

curl(curlw) − k2w = 0
���

W ,

� �~�   �
W
�ìë � �
�¾���u�
�~�u�÷ðK� ó �   �~���yî
� �

Ω
o

Q]� � �   îJ���Tð}���
(9)

ôJ� �   � �M� t�t ��� � �
Eα = Eα +ug

ô�� �~�   �
Eα
�ìën���~�0ë�� t �r�����¾�»���

(7)
odq �~��î � ��� �

g
���

(6)
ô

��� � �ºîr��ï~�~��ë
ug

ô �ìë � �¾��ë��ìîr�   ��î �g  � ��� �r� � ë�� �M� t �Ë�¾�����T� � òZ��� � � ë ��� �  �  �u��� � �r� t ����î9�¾�
∂Ω
o�q �~��îJ�ìë �u  �u���

ï�� t î
Eh
� ë ë�� � � � ����î � �����

Eα

�ìë����~�¸ë�� t �r�����¾�)� � ���~�¸îJ�ìë �u  �u��� � �  �� � t � �����¾�
(17)

ôa� ��î>���~� îJ�ìë �u  �u����� t � � �   � �
ï�� t î � ë�ë�� � � � ����î � �����

Eα
�ìëºîr��ï~�~��î � ë v

Eh
α := Eh + ug

olq �~�­���Hò·�   ë����¾�½�   � � ��ë�ëT�ìëb��ë�� ��órt �ìë��~��î ó�� ��ë����Tð
���

(18)
� �   ��� � � t �  C� �  �  �u����ë � ë � � t�tU� ë%ë���� � � � t ����ë��Mï�� t îTë ôr� ��î ó�� ��ò � t � � �����Tð}���~� � �  �  ��ë����¾��îJ���TðP��� � �   � �M� t

� � � ë��   � � �u����ë �g  � � ���~� t � � �høw� � ��î ë��ìîr��� �
(18)
o

ñ � � �r� t�� îJ���,�   �u��� � �  �  �u����ë � �  
g
��� � � � �  �  ��ë����¾��î����P���~� � � t�t � � ���Tð ó��¾��í ð   �¾�r��î ò·� � ���   �Ë�¾���u����� � t ë

E
(1)
0 (x1, x2, x3) =




0

0� � kx2


 , E

(2)
0 (x1, x2, x3) =




� � kx3

0

0


 , E

(3)
0 (x1, x2, x3) =




0� � kx1

0


 ,

IMy



� ��î
��ò � t � � ��� �g  � � ���~� t � � �høw� � ��î ë��ìîr��� �
(18)
���~�����  �� ë

Γ(j,i)
ô
1 ≤ i, j ≤ 3

ô îr��ï~�~��î � ë v

Γ(j,i) :=

∫

∂Ω
curlEh

α,(i) × ν · w(j,i) dσ −

∫

∂Ω
curlw(j,i) × ν · (ν × g(i)) dσ .

eXIMH·m
kb� � � t��Vôd� �   � �¾� � � �  �  �u���

g(i) = E
(i)
0 × ν

ôd� ���r�r�
g := g(i) ��� (6)

���À�   îr�   ��� � � � �r�r��� ó��
(17)

���~�
� �  �  ��ë����¾��îJ���Tð îJ�ìë �u  �u���Á� t � � �   � � ï�� t î îr�u�~�¾����î��~�   � ó��

Eh
α,(i)

ô~� ��î � �¾��ë��ìîr�   ���~�l����ë���ò·� � ���   ï�� t îTë

w(1,1)(x1, x2, x3) =




0

0� − � kx2


 , w(2,1)(x1, x2, x3) =




� − � kx2

0

0


 , w(3,1)(x1, x2, x3) =




0

0� � kx2


 ,

w(1,2)(x1, x2, x3) =




� − � kx3

0

0


 , w(2,2)(x1, x2, x3) =




0� − � kx3

0


 , w(3,2)(x1, x2, x3) =




� � kx3

0

0


 ,

w(1,3)(x1, x2, x3) =




0� − � kx1

0


 , w(2,3)(x1, x2, x3) =




0

0� − � kx1


 , w(3,3)(x1, x2, x3) =




0� � kx1

0


 .

Y[�¾� �
Γ(j,i)

ô
1 ≤ i, j ≤ 3

ô �ìë �M� t�t ��î ���~�#$ � � ���!����.�� � &�� $*� .���� � �	./ !�'��� � ��$ 
 oPV � � � t�t � � ë �¡  � � ���~� � �  �� � t �
(18)
� ��î � ���������~��ë�� � �¾��ë��ìîr�   � �����¾��ë���� � � v





Γ(1,1) ≈ α3k2N33 + α3k2M11 ,

Γ(2,1) ≈ α3k2N13 − α3k2M31 ,

Γ(3,1) ≈ (α3k2N33 − α3k2M11)
� 2 � kp2 ,

Γ(1,2) ≈ α3k2N11 + α3k2M22 ,

Γ(2,2) ≈ α3k2N21 − α3k2M12 ,

Γ(3,2) ≈ (α3k2N11 − α3k2M22)
� 2 � kp3 ,

Γ(1,3) ≈ α3k2N22 + α3k2M33 ,

Γ(2,3) ≈ α3k2N32 − α3k2M23 ,

Γ(3,3) ≈ (α3k2N22 − α3k2M33)
� 2 � kp1 ,

e LKx·m

� �~�   �����~�����  �� ë
Mij
� ��î

Nij
ô
1 ≤ i, j ≤ 3

ôË�   �   ��ë���� � ���÷ò·� t�� ���~� � ��� � � ���u����ëb� �
M
� ��î

N
onQ ë'ë���� � �Ìï���î

��� � y��¾ô ���~� � � � ë��   � � �u����ë
Γ(1,i)

ô
Γ(2,i)

ô
1 ≤ i ≤ 3

ô ���
(20)

ô�� t�t � � ��ë������   �eò��ìîr� � � � �r�   � � � ��� �����¾�>� � ���~�
  ��ë �M� t ��î9���u��ë��  

α3k2M
�  

α3k2N
îr�u�Ë�u��îJ���Tð¹�¾� � �~�u���~�  

ε1 = ε0
�  

µ1 = µ0
o � � � � � � � �r�   � � � ��� �����¾�

� � ���~�����u��ë��  
α3k2M

�  
α3k2N

�ìë0îr�u���  �� ���~��î ô�� � �M� � t � �M� t �÷öM�Á���~� � �u�����   � � ���~�l� � ���  X� � � �����¾� �g  � � ���~�
� � � ë��   � � �u����ë

Γ(3,i)
ô
1 ≤ i ≤ 3

ô ���
(20)

ôE� �  z� �   � � ���ûò � t �~��ëz� �
k
� ��î � �~�u�

µ0 > 0
ô
µ1 > 0

ô
ε0 > 0

ô

ε1 > 0
o

ñ � � �u�������¾�¹��� � � ���~� � � � ë��   � � �u����ë ���
(20)
�   �j�~�¾�n�~� � ��ò·�   ë���� � ���u���_����îr�u���  �� ���~�T���~� � �r�   � � � ��� ø

�����¾��ëC� �
α3k2M

� ��î
α3k2N

�������~��ð·�u�~�   � t �M� ë�� ôr� �~�   � ó �¾���
µ1 6= µ0

� ��î
ε1 6= ε0

o
I �



ñ �~�u�����~�]��� t �   �÷ö � �����¾�����u��ë��   ë
M1(

µ0
µ1

)
� ��î

M1(ε0
ε1

)
�   � í �~� � � ôZ� � � �r�   � � � ��� �����¾�¹� � ���~�'ë��÷öM�C� � ���~�

� � ���  X� � � �����¾� �M� � ó ��îr�u���  �� ���~��î �¡  � � �¾�~�­� � ���~� � � � ë��   � � �u����ë
Γ(1,i)

ô
1 ≤ i ≤ 3

ô ��ò·�u� � �
µ1 6= µ0

� ��î
ε1 6= ε0

ô�� �����»� �U� �¾�   ë��
µ0 > 0

ô
µ1 > 0

ô
ε0 > 0

ô
ε1 > 0

oEf � t�t � � ���Tð � y��¾ô�� ��îr�u���  �� ���~�T���~� � �r�   � � � ��� �����¾��ë
� �

M1(µ0
µ1

)
� ��î

M1(ε0
ε1

)
� �����~�¾�r� � � �   � t � �����¾�½���   ��îJ� � ��î � ��ë��~��ë o­V � � �¾� � ô�� �   ��ò � t � � �����Tð ��� � �   � �M� t�t��

M1(
µ0
µ1

)
�  

M1(ε0
ε1

)
ô�� �0ï   ë�� � �¾��ë��ìîr�   ��� � ��íP� �  �� � t � �����¾�¹���,ë �M� t �   �Ë�¾���u����� � tR����í ���Tðz��ë �j� � �2ó �¾�r��î �  ��

��������ð   � t �¾���   � ���  uôa� ��î � ë�ë�� � � � ����î � �����
(12)
o½QC� ���   îJ�ìë �u  �u���÷ö ���Tð½���r�ìë � �  �� � t � �����¾� �g  � �Å�9� � �°ó ��� � �����¾�

� � �������   ���   �~�yî � t ï~�r����� � t � � �u����ë � ����� ó �¾�r��î �  �� ï~�r����� � t � � �u����ë�� � ï   ë��hø �   îr�  >e ë�� � � o ð o � IMy	�j� �   ���~�
� �r�   � � � ��� �����¾��� � ���~� � �u�������¾�~��î ó �¾�r��î �  �� ��������ð   � t �¾���   � ���  ¢m�ô�� � � � � �r�r���j���~�0îJ�ìë �u  �u����ë �M� t �   �Ë�¾���u����� � t
� ë�ë�� � � � ����î � �����

(12)
ôR� ��î����~�u� ��ë��b���C���P��ò � t � � ���l��� � �   � �M� t�t��¹�g  � �

(13)
���~� � �Z� � � ���u����ëT� � ���~�b���u��ë��  Mo

V � � � � � � � t�t � � ë ôZ� ��ï �
µ0 = ε0 = 1

ôJ� ��î��   ��ë��u���n���~����� � �   � �M� t�  ��ë�� t ��ë_� � ���~� t � �M� t �÷ö � �����¾�¹� �Ø� ë����Tð t �
� � ���  X� � � �����¾� � �¾��� � ���~��î ���

Ω
opñ � ����í �z��ë���� �

(20)
ó�� îJ�ìë������TðK�r�ìë��r���Tð����~� �M� ë���ë v

µ1 = µ0
� �����

ε1 6= ε0
ô

� ë � � t�ta� ë
µ1 6= µ0

� �����
ε1 = ε0

o 
 �   � � ��î ��� ���~� � � t�t � � ���Tð,ë�� ó ë�� � �����¾��ë ô�� t�t �¾�   ��� � �   � �M� td  ��ë�� t ��ë � � t�t
ó ��îr��ë �u  � ó ��î � �����   ��ë���� � �]���P���~�b� �   � � �u���  

τ := α ω .
e LJI m

S �u�j��ë � �u�������¾�9��� � �����r�ìë�� �   � � �u���  j� �¾� t î ó �2îr��ï~�~��î � ë
τ := αω/r

� �
Ω
� � ë �¡ó�� t�t � �d  � îJ����ë

r
o 2]� ë���î

�¾�¹���~�b��� � �   � �M� t ë�����î � � � ���~� � ë �Z� �r���¾��� �T� �  �� � t �
(14)

îr�¾�~�b��� � y��¾ô � �¾� � � �¾��ë��ìîr�   ��î �g  � ���~�u� �u�G� ��ë�� ó �
ë�� � �
��� � �

k
�ìëC��� �¾� � �   î � � � � � ����� h � ���  :í

3.1
ôË� ��î � ��ë��j�~�¾� t � � î���� �Pt �   ð·���  j� ���Z�±ë ��� t�t ò � t �~��� �

τ
o

^ �¾��ë�� ���~�u��� t��VôJ� � � � t�t �~�¾�_��ë��C�~�   � �¡  � ���~�u� � ����ë_��� � � �   �����Z���r�÷ðK� � ��îG� �¾� � � �¾��ë��ìîr�   ��î �¡  � ���~�u� �u��� � t�t6ó �
ë�� � �9��� � �

k < π
2
� �   � �~� � � t � ô ��� ���~� �M� ë��Á� � ���~�   � � �¾��ë��   � � �����¾�½� � ���~� � �u�����   � � ���~�z� � �Ë�  X� � � �����¾� ���

Ωe îr� ��� ��� � � ò����Tð��~�   �l���~��ë�� � ����� � ���~�l�r�r��� ó�� t�t mpo
ñ �   ��ë���� � ���÷ò·� t�� îr�u�~�¾��� ó�� |α − αh|

|α|
ô |p − ph|IR3

|p|IR3

ô¾� �~�   �
| . |IR3

�ìëE���~� ���9ï~�r��� � �~�  �� �¾�
IR3 ô ���~�   � t � ���÷ò·��  �  �   ë]�¾�¹���~�   � îJ����ë

α
� ��î¹���~� � �u�����  

p
� � ���~�T� � ���  X� � � �����¾� ô~� �~�u�

αh
ô
ph
�   �T���~�   � îJ����ë � ��î»���~� � �u�����  

� � ���~� t � �M� t �÷öM��î
� � �Ë�  X� � � �����¾� o
f �÷ðK�   ��ë

4
ø

5
�   ��ë��u���   ��ë�� t ��ëT� ó � � ���~��î �g  � �

Thl

ô
1 ≤ l ≤ 3

ôË� �����
µ1 = 1

ô
ε1 = 3, 5, 10

o�ñ �­� ó ë��   ò·�
� � � ë �Z� �r���¾��� ��ó �u� � òZ���¾�   � � ���~�   � t � ���÷ò·���  �  �   �¾�
���~�   � îJ����ëj� � ���~��� � �Ë�  X� � � �����¾� � �����   ��ë���� � �]���

τ
o

ñ �b� ó ë��   ò·�T���¹���~� �M� ë�� � �~�   �
µ1 = 1

��� � � ���~�   � t � ���÷ò·�l�  �  �   �¾�»���~�   � îJ����ë ��� �u  � � ë���ë � �����   ��ë��Ë� � �_���
τ
ô ����îr�u�Ë�u��îr�u��� t�� � � ���~� � �¾��ë��ìîr�   ��î   ��îJ� � ��î � ��ë�� o � � ���~�l�¾���~�   � � ��î ôJ� �  ��­t �   ð·�   � �Tð·��� � ò � t �~��ëC� �

τ
ô

���r�ìë   � t � ���÷ò·�P�  �  �   ��� �u  � � ë���ë � �����   ��ë��Ë� � �T���»���~� � �¾���   � ë���� � ���~�¡îr� ��� ��� olf �÷ðK�   ��ë
4

ø
5

ë��~� � � �   � �eò·�  
��� � �b���r�ìë   � t � ���÷ò·�P�  �  �  �ó � � � � ��ë � �   �}� � ���   � � ��� � �~�u� � � � �Tð � �u���l���~�   ��îJ� � ��î � ��ë�� t ��ò·� t[� ��î ��� � � ô
� �   ���~� t � � � �¾���   � ë���ë ô ���~�z� � �õï   ë��   ��îJ� � ��î � ��ë�� t ��ò·� t ë t � � î9�����  �  �   ëb�¾� ���~�   � îJ����ëT��� � � �   �z�~�¾��ò·�  ��
îJ���,�   �u��� � �  ��­t �   ð·�   � �Tð·��� � ò � t �~��ëC� �

τ
o

ñ � � �u�������¾� ��� � � � � � ë �Z� �r���¾��� �ºó �u� � òZ���¾�   � � ���~�   � t � ���÷ò·�Á�  �  �   �¾�����~�   � îJ����ë ôJ� �����   ��ë���� � �]���
τ
ô �ìë

� t ë��¹� ó ë��   ò·��î �g  � � ë�� � � t � �����¾��ëÁ���½���~� �M� ë�� � �~�   �
µ1 = 3, 5, 10

� �����
ε1 = 1

o­f �  z�G  � �Tð·�P� � ò � t �~��ël� �
τ
e
τ � 10−1 m�ô ���r�ìë   � t � ���÷ò·�z�  �  �   ��� �u  � � ë���ë�ë t �÷ðK��� t��¹� �~�u�9���~� � �¾���   � ë�� ó � � � � ��ë�� � �Ë�   � � ��� opñ ��� ó ë��   ò·�

�g  � � � � ���   � � �u����ë ô·� �  
ε1 = 1

� ��î � �   ë�� � �[ò � t �~��ë[� �
τ
ô ��� � �n���~�   � t � ���÷ò·���  �  �   �¾�����~�   � îJ����ëa�ìë � ë �Z� �r���¾�hø

� �M� t�t�� ë t �÷ðK��� t��»� �   � �¾� � �   � ���l��� � �����~�l�¾�~�l� ó � � ���~��î ó�� � ��í ���Tð
µ1 = 1

ô ����îr�u���u��îr�u��� t�� � � ���~� � �¾��ë��ìîr�   ��î
IMN
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f �÷ðK�   � |~vnW � � �Ìø t �Fð   �u�   ��ë��u��� � �����¾� � � ���~�   � t � ���÷ò·�Á�  �  �   �¾�
���~�   � îJ����ë � �����   ��ë���� � �C���[ë�� � ��ò � t �~��ë�� �
τ
ô� �  

µ1 = 1
� �����

ε1 = 3
e � � t � � � m]� ��î

ε1 = 5
e � �   �÷ðK��� m�ôr�g  � �

Thl

ô
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f �÷ðK�   � �JvnW � � �Ìø t �Fð   �u�   ��ë��u��� � �����¾� � � ���~�   � t � ���÷ò·�Á�  �  �   �¾�
���~�   � îJ����ë � �����   ��ë���� � �C���[ë�� � ��ò � t �~��ë�� �
τ
ô� �  

µ1 = 1
� �����

ε1 = 10
�g  � �

Thl

ô
1 ≤ l ≤ 3

o

IMH



  ��îJ� � ��î � ��ë�� o
V �����~� �M� ë���� �Et � � � �¾���   � ë���ë ô~� �   �u�   ��ë��u���j��� f �÷ðK�   ��ë

6
ø
7
���~� �u  �\ë�ëhø¾ë�� � �����¾��ë � �

x = p1
ô
y = p2

� ��î
z = p3

ô � � ���~���   �÷ðK��� � t � � �Ë�  X� � � �����¾� e¡� ����� � �u�����  
(p1, p2, p3)

T mb� ��î � � ���~�   � � �¾��ë��   � � ����î � � �Ë�  X� � � �����¾�  ��ë�� t �����Tð �g  � � ���~��ï   ë�� t ��ò·� t � � ���~�   ��îJ� � ��î � ��ë�� o
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f �÷ðK�   � yJv]h ��ë���� � ���÷ò·� �u  �\ë�ë:ø¾ë�� � �����¾��ë � �
x = p1

ô
y = p2

� ��î
z = p3

ô��g  � �
Th1

� ��î � �����
µ1 = 1

ô
ε1 = 3

ô
τ = 1.7 10−2 o[W �r�Ë�   ���\ë��������¾� � � ���~���   �÷ðK��� � t � � �Ë�  X� � � �����¾� e −−− mn� �~�\ë � � �u�����   �ìë ���  :í ��î ó�� �
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� ô~� ��î
� ����~�   � � �¾��ë��   � � ����î � � �Ë�  X� � � �����¾� e

−−−
mn� ����� ����ë � �u�����  j���  :í ��î ó�� �
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f �÷ðK�   � � v]h ��ë���� � ���÷ò·� �u  �\ë�ë:ø¾ë�� � �����¾��ë � �
x = p1

ô
y = p2

� ��î
z = p3

ô��g  � �
Th1

� ��î � �����
µ1 = 1

ô
ε1 = 5

ô
τ = 2.6 10−2 o[W �r�Ë�   ���\ë��������¾� � � ���~���   �÷ðK��� � t � � �Ë�  X� � � �����¾� e −−− mn� �~�\ë � � �u�����   �ìë ���  :í ��î ó�� �

+
� ô~� ��î
� ����~�   � � �¾��ë��   � � ����î � � �Ë�  X� � � �����¾� e

−−−
mn� ����� ����ë � �u�����  j���  :í ��î ó�� �

×
� o

Q ëd����îJ� �M� ����î���� f �÷ðK�   �
8
ô·� �j� ó ë��   ò·� �g  � � ë�� � � t � �����¾��ë � � � ë ��� �r���¾��� ��ó �u� � òZ���¾�   � � ���~�   � t � ���÷ò·�j�  �  �  

�¾�»���~� � �u�����   � � ���~�j� � �Ë�  X� � � �����¾� � �����   ��ë���� � �_���
τ
ô ����îr�u���u��îr�u��� t�� � � ���~� � �¾��ë��ìîr�   ��î   ��îJ� � ��î � ��ë�� � ��î

� �~�u�
µ1 = 1

o � �
���~���¾���~�   � � ��î ô ���r�ìë   � t � ���÷ò·�Á�  �  �   ò �   ����ë � �����   ��ë��Ë� � �����}���~� � �¾���   � ë��T� � ���~��îr� ��� ���
� ��î}��� � �r��� �   ë ôK� �¾���   �  �� ���b���~�]�  �  �   �¾�P���~�   � îJ����ë ô ��� � �d����îr�Z��ëE�~�¾��ë � ë���� ��� ��� �M� t�t�� ��� �u  � � ë ��ë��÷ðK�r�Ìï �M� ��� t��
e � �  z��t �   ð·�   � �Tð·��� � ò � t �~��ëÁ� �

τ
mb� �~�u� � � � �Tð � �u���z���~�   ��îJ� � ��î � ��ë�� t ��ò·� t �  Á� �~�u�����~� � �¾���   � ë��­� �

���~��îr� ��� ���½��� �u  � � ë���ë obQ�t ë � ô~�g  � � � � ���   � � �u����ë � �}� ó ë��   ò·�­��� � �T���~�   � t � ���÷ò·�­�  �  �   �¾� ���~� � �u�����  uô�� �~�u�
ε1 = 1

ô �ìë]�~�¾�0ë � ë���� ��� ��� �M� t�t��¹� �   � �¾� � �   � ���l��� � �
���~�Á�¾�~��� ó � � ���~��î ó�� � ��í ���Tð
µ1 = 1

ô ����îr�u���u��îr�u��� t�� � �
���~� � �¾��ë��ìîr�   ��î   ��îJ� � ��î � ��ë�� o

LKx
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f �÷ðK�   � NJv W � � �Ìø t �Fð   �u�   ��ë��u��� � �����¾� � � ���~�   � t � ���÷ò·�z�  �  �   �¾�
���~� � �u�����  �� �����   ��ë���� � �C���[ë�� � ��ò � t �~��ë�� �
τ
ô�g  � �

Th2

e
−−.−−

m_� ��î
Th3

e
−−
�
−−
m�ô�� �  

µ1 = 1
� �����

ε1 = 10
o

q �~� ó �u� � òZ���¾�   ël� � ���~�   � t � ���÷ò·�P�  �  �   ël�¾�½���~�   � îJ����ë � ��î ���~� � �u�����  uôU� �����   ��ë��Ë� � �b���
τ
ô ����îJ� �M� ���}���

��ëz��� � � �¾� � �   � ���   � � �¾��ë��   � � �����¾��ëP� � ���~��� � ���  X� � � �����¾� �M� �r�~�¾� ó ��� � ��� � ����î>���)���~� �M� ë��G� � ���Z� ë ��� t�t �  
t �   ð·�¡ò � t �~��ë�� �

τ
o 
 �   � �eò·�  uô ��� � �r��� �   ë � �   �P� � � ���u������� � �¾��ë��ìîr�  uô ���Èë�� � � t � �����¾��ë ô ���~�±ë�� � �¾��î t ��ò·� t � �

���~�   ��îJ� � ��î � ��ë�� ����ë���� � î � � ���~�°ï   ë�� t ��ò·� t îJ�~�Á��� ��� �   �   � � ë��¾� ��órt � ^_Oa\ ��� � � � ��î9���~� �w�¾� ����� � �T���~�
  � t � ���÷ò·�Á�  �  �   ëT� ó � � ���~��î �g  � �

Th2

�   �Á�~�¾�C��� � �   � �M� t�t�� ò·�  �� îJ���,�   �u��� �¡  � � ���~�\ë��   ��ë�� t �����Tð �¡  � �
Th1

ô~� �  
�Gt �   ð·�   � �Tð·�P� � ò � t �~��ël� �

τ
o � � ���~�P�¾���~�   � � ��î ô ë���� � �­���~�   � t � ���÷ò·�P�  �  �   ë��¾� ���~�   � îJ����ë �¡  � �

Th2

�   �
ë��÷ðK�r�Ìï �M� ��� t��)ó �u�����   ��� � � ���~�\ë��}� ó � � ���~��î �¡  � �

Th3

ôË� �}�   ��ë��u��� ó � t � � ���~�   ��ë�� t ��ël� � � � �Ë�   � � �u����ë ó�� ë���î
��� ��� t�� �¾�

Th2

o
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f �÷ðK�   � HJv]h ��ë���� � ���÷ò·� �u  �\ë�ë:ø¾ë�� � �����¾��ë � �
x = p1

ô
y = p2

� ��î
z = p3

ô��g  � �
Th2

� ��î � �����
µ1 = 1

ô
ε1 = 5

ô
τ = 2.6 10−2 o[W �r�Ë�   ���\ë��������¾� � � ���~���   �÷ðK��� � t � � �Ë�  X� � � �����¾� e −−− mn� �~�\ë � � �u�����   �ìë ���  :í ��î ó�� �

+
� ô~� ��î
� ����~�   � � �¾��ë��   � � ����î � � �Ë�  X� � � �����¾� e

−−−
mn� ����� ����ë � �u�����  j���  :í ��î ó�� �

×
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� t�t � � ëb��ë����»�~�¾��� � �z��� � �T���~�z� � ���  X� � � �����¾�   � � �¾��ë��   � � ����î �g  � �

Th2

�ìëT� � ë�� � � t �   ë��÷öM�Á���G���~�
�¾�~�b� � ���~�T� � �Ë�  X� � � �����¾�   � � �¾��ë��   � � ����î �¡  � �

Th1

e ë � � f �÷ðK�   �
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m�ôJ� �_���~�ºë � � � �¡  � ���~�u� �u�G� ��î � �   ���~��ë � � �

� �¾���   � ë�� ô�ó �r�]� � ë � ë t �÷ðK��� t�� îJ�����   �u��� � �u�����  Mo
q �~�   ��ë�� t ��ë   �u�   ��ë��u������î���� f �÷ðK�   �
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�   �b� ó � � ���~��î � �  C� ë��   �¾�Tð·�  C� �¾���   � ë�� � ��î � � �zt � � �  C�¡  � ���~�u� �u�·o

Q ë��¾�r���\ë���îº��� ���r�ìë �M� ë�� � �~�   �
µ1 = 1

� �����
ε1 = 10

ô ���~�   � � �¾��ë��   � � ����î�� � �Ë�  X� � � �����¾� � �����~� ë � � �
LJI
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f �÷ðK�   � IMxJvdh ��ë���� � ���÷ò·� �u  �\ë�ëhø¾ë�� � �����¾��ë � �
x = p1

ô
y = p2
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z = p3

ô��¡  � �
Th2

� ��î � �����
µ1 = 1

ô
ε1 = 10

ô
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+
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µ1 = 10
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ε1 = 1

�ìëC� � ë ��� t�t �   ë��÷öM� o
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ô ���~�   � � �¾��ë��   � � ����î¹� � ���  X� � � �����¾����� f �÷ðK�   �
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�ìë � �it �   ð·�  

ë��÷öM� � ��î ����ë � �u�����   �ìë t ��ë�ë �¾� � �   � ��� o�ñ � � t ë����~�¾��� � � �g  � � ë�� � � t � �����¾��ë � �����
Th2

��� � �b���~� t � �M� t �÷ö � �����¾�>� �
���~�P� � ���  X� � � �����¾� ó � � � � ��ëz��� �w�¾� � t ��ë�ë �¾� � �   � ��� ôØ� �~�u����ë����Tð ���~�[ë � � � � �¾���   � ë�� � ë ó � � �   ����� f �÷ðK�   �

9
ô

ó �r�C�������~� �M� ë � � �~�   �
τ = 1.17 10−2 o

2_�   ��îJ� � ���Tð e � ð � ��� m ���~� �g  � ���~�u� �u�VôU� ��� ó � � ���>���~�   ��ë�� t ��ë   �u�   ��ë��u������î ��� f �÷ðK�   �
11

ø
12

ô,�g  � � ���~�
ë � � �   ��îJ� � ��î � ��ë�� t ��ò·� t � ��î � ����� îJ���,�   �u��� � �¾���   � ë���ë o
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f �÷ðK�   � IKIKvdh ��ë���� � ���÷ò·� �u  �\ë�ëhø¾ë�� � �����¾��ë � �
x = p1

ô
y = p2

� ��î
z = p3

ô��¡  � �
Th2

� ��î � �����
µ1 = 1

ô
ε1 = 10

ô
τ = 8.2 10−3 o[W �r�Ë�   ���\ë��������¾� � � ���~���   �÷ðK��� � t � � �Ë�  X� � � �����¾� e −−− mn� �~�\ë � � �u�����   �ìë ���  :í ��î ó�� �

+
� ô~� ��î
� ����~�   � � �¾��ë��   � � ����î � � �Ë�  X� � � �����¾� e

−−−
mn� ����� ����ë � �u�����  j���  :í ��î ó�� �

×
� o

W � � � t �  j  ��ë�� t ��ëC� � ò·� ó � �u�
� ó � � ���~��î �g  � � ë�� � � t � �����¾��ë � ����� ���~�°ë � � � �g  � ���~�u� �u�VôTó �r� � �  
µ1 = 5

� �����
ε1 = 1

ô � ��î � �~�u�
µ1 = 1

� �����
ε1 = 5

o}V � � �r�Ë� �   ël��� � �l���~� t � �M� t �÷ö � �����¾� � � ���~�}� � �Ë�  X� � � �����¾� ó � � � � ��ë
� �   � � ��î � �   ����� �¾� � �   � ��� � �~�u�
���~� �g  � ���~�u� �u� îr� �u  � � ë���ë ôR� ��î���� � � � � t�t � � ���Tð����~� �M� ë � � �~�   �

µ1 = 1
�  

ε1 = 1
ô ���~�   � � �¾��ë��   � � ����î
� � ���  X� � � �����¾�9�ìëC� �Et �   ð·�   �   ë ��� t�t �   ë��÷öM�   ��ë��Ë� � ���÷ò·� t��·o

LKL
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f �÷ðK�   � IMLJvdh ��ë���� � ���÷ò·� �u  �\ë�ëhø¾ë�� � �����¾��ë � �
x = p1

ô
y = p2

� ��î
z = p3

ô��¡  � �
Th2

� ��î � �����
µ1 = 10

ô
ε1 = 1

ô
τ = 8.2 10−3 o[W �r�Ë�   ���\ë��������¾� � � ���~���   �÷ðK��� � t � � �Ë�  X� � � �����¾� e −−− mn� �~�\ë � � �u�����   �ìë ���  :í ��î ó�� �

+
� ô~� ��î
� ����~�   � � �¾��ë��   � � ����î � � �Ë�  X� � � �����¾� e

−−−
mn� ����� ����ë � �u�����  j���  :í ��î ó�� �

×
� o

� A � (�U ��� I  U � E9Q L � UVQ !MI CwQ L �qJ&� G�Qû@�� N�� ��B # # U �5I EHG

ñ ��îr��ë �u  � ó �z��� ���r�ìëºë�� ó ë � � �����¾�9���~�z��� � �   � �M� tE  ��ë�� t ��ëb� ó � � ���~��î �¡  � ��� �   � � ��îJ�   � � � � ��î � � t � �M� t �÷ö ���Tð �
ë����Tð t �n� � �Ë�  X� � � �����¾� � ë � � t�t~� ë � � t ����� t �_� � �Ë�  X� � � �����¾��ë oEq �r�ìëi�   � � ��îJ�   � ô �   ��ë��u������î}��� � y��¾ôK� t ë�� ����í ��ëi��ë��_� �
���~� � ë �Z� �r���¾��� �_� �  �� � t �

(16)
ôHó �r�d�~� � ��� � � �°ó ��� � �����¾� � ���������~� 
9\jt ����� t � WZV ðK� � tR^nt � ë ë��Ìï �M� �����¾� e 
 \bWZV�^]m

� �r�   � �¾� � � I�� o 2 � � �   �[îr��ë �u  � ó ���Tð ���~�}��� � �   � �M� t[  ��ë�� t ��ë ô,t �u�l��ë   � �M� t�t�ór  ����� � �~� � ���~� 
9\lWZVX^ � �r�   � �¾� �
�ìë � �r� t ����î ô�� �   ë�� � � t � � ��� �Vô,� �~�u�

Ω
  �u�   ��ë��u����ë����~�z�r�r��� ó�� t�two�S �u�

(θ1, ..., θn) ∈ (S2)n
ó �

n
îJ�   � � �����¾��ë�� �

��� � �ìîr�u� � � ôR� ��î îr�u�~�¾��� ó��
(x̂1, ..., x̂n)

ô
n

îJ�   � � �����¾��ëj� � � ó ë��   ò � �����¾� ô~� �~�   �
x̂l = θ⊥l

� �  
l = 1, ..., n

o 
 �   � ô
���~�}��ë�ë��u����� � t[� ë�ë�� � �r�����¾�½�ìëb��� � �

n
�ìë ó �÷ð\ð·�   ��� � �

m
ô ���~�}��� ��ó �   � � � � �Ë�  X� � � �����¾��ë o 2n� �~��ð t � � �����Tð����~�

� ë �Z� �r���¾��� �M� t�t�� ë ��� t�tU  � ��� ����îr�   ���  �� ���
(16)

ô�� ��ð·�u� v
∫

∂Ω
curlEα × ν · w dσ −

∫

∂Ω
curlw × ν · (ν × g) dσ ≈

α3
m∑

j=1

k2(ε0
εj

− 1)
[
M j(ε0

εj
)E0(zj)

]
· w(zj) +

α3
m∑

j=1

(µ0
µj

− 1)
[
M j(µ0

µj
) curl E0(zj)

]
· curlw(zj) ,

e LKL·m

� �~�   �
g
�ìë0îr��ï~�~��î � ë]���

(6)
ô�� ��î

Eα
�ìë'îr�u���  �� ���~��î ���   �¾�TðK�
���~�2ë�� t �r�����¾�

Eα
� �

(7)
o

S �u�i��ë � �r� t�� îJ���,�   �u��� � �  �  �u����ë � �  
g
��� � � � �  �  ��ë��Ë�¾��î­���C���~� ó��¾��í ð   �¾�r��î¡ò·� � ���   �Ë�¾���u����� � t ë

E0,(l)(x) =

θ⊥l
� � kθl·x

ô
1 ≤ l ≤ n

ojf~  � � � �¾� � � �r� t ����î � �  �  �u���
g(l) = E0,(l) × ν

ô
1 ≤ l ≤ n

ôË� �Á� ��í �
g := g(l) ��� (6)� ��î � � � �r�r�������   �¾�TðK�

(17)
���~� � �  �  ��ë����¾��îJ���Tð)îJ�ìë �u  �u����� t � � �   � � ï�� t îÈîr�u�~�¾����î ó��

Eh
α,(l)

oPk � � � �����>���~�
����ë��'ò·� � ���   ï�� t î

w(l′)(x) = θ⊥l′
� � kθl′ ·x

ô
1 ≤ l′ ≤ n

ôr� ����ò � t � � ��� �g  � � ���~� t � � �høw� � ��î ë��ìîr��� �
(22)
���~�l���  ��

îr��ï~�~��î � ë � � t�t � � ë ô
All′ :=

∫

∂Ω
curlEh

α,(l) × ν · w(l′) dσ −

∫

∂Ω
curlw(l′) × ν · (ν × g(l)) dσ ,

��� � ��îr�u�~�¾����ë � ��� � �   � �M� t�ó �¾�r��î �  ��9� � � ë��   � � �u��� o�V � ���r�ìë � � � � � ó �r� t î9��� � �   � �M� t�t�� ���~� ��� �   � �
A :=

(All′)1≤l,l′≤n
oMñ ����� ���~��ë��l� �   ��� � � t �  b� �~�¾� � ��ëb� ��ó��¾��í ð   �¾�r��î)ò·� � ���   ���¾���u����� � t ë � ��î
����ë���ò·� � ���   ï�� t îTë ô�� �

LK{



ð·�u� �g  � � ���~�   �÷ðK���høw� � ��î)ë��ìîr��� �
(22)
v

α3
m∑

j=1

[
k2(

ε0

εj
− 1)

(
M j(

ε0

εj
) θ⊥l

)
· θ⊥l′ − k2(

µ0

µj
− 1)

(
M j(

µ0

µj
)(θl × θ⊥l )

)
· (θl′ × θ⊥l′ )

] � � k(θl+θl′)·zj .

V �Ø� �   �u� t �¾� �b���~� � �r�   � � � ��� �����¾�
���
(22)

ó���� ��� ��� � t ��� �Vôr� � ���M��  ��ë���� � ���÷ò·� t��»�]  �����b���~� � �Z� � � ���u����ëj� �
A� ë ó � t � �2ôr� �~�u� � t�t ���~�l� � ���  X� � � �����¾��ë �   �b�r�r�����~� t�� � t � � �   � � �   �r�r�����~� t��»��� ðK�~�u��� �Kvd� �  

1 ≤ l, l′ ≤ n
ô

All′ = α3
m∑

j=1

k2(
ε0

εj
− 1)

(
M j(

ε0

εj
) θ⊥l

)
· θ⊥l′
� � k(θl+θl′)·zj ,

�  
All′ = −α3

m∑

j=1

k2(
µ0

µj
− 1)

(
M j(

µ0

µj
)(θl × θ⊥l )

)
· (θl′ × θ⊥l′ )

� � k(θl+θl′)·zj .

S �u�¹��ë � �¾��ë��ìîr�   ë�� � � � �¾��ë�� � ���,ò·� � ���  
c ∈ IR3 ô�� ��î ë �u�

A? = A
T o ` �u�Ë�u��îJ���Tð§�¾� � �~�u���~�  �� t�t ���~�

� � ���  X� � � �����¾��ë �   ��� t � � �   � � �  C��� ðK�~�u��� �\ôrt �u����ë'îr��ï~�~� ôr  ��ë���� � ���÷ò·� t��»� �  
z ∈ Ω

ô

gz,c := (c · θ⊥1
� � kθ1·z, ..., c · θ⊥n

� � kθn·z)T ,

� �~�   �
c
�ìë'ë�� � ����� � �

c · θ⊥l 6= 0
ôZ� �  j� t�t

l = 1, ..., n
ô �  

gz,c := (c · (θ1 × θ⊥1 )
� � kθ1·z, ..., c · (θn × θ⊥n )

� � kθn·z)T ,

� �����
�~�   �
c
ë�� � �
��� � �

c · (θ⊥l × θl) 6= 0
ôJ� �  �� t�t

l = 1, ..., n
o

h � � �  �  ���Tð��~� � ����� I �¾ô ��� �M� � ó ��ë��~� � � ��� � �]���~�   ��� � �ìë���ë
n0 ∈

V k ë�� � ����� � � � �  �� � �
n ≥ n0

ô

gz,c ∈
hT� �Tð·�

(AA?)
� �a� ��î��¾� t�� � �

z ∈ {z1, ..., zm}
o

Q � � �r� t � �M� �����¾��� � ���~�pë����TðK� t �   ø¤ò � t �~�pîr� � � � ���\ë��������¾�P� �
A
�ìëØ���~�pîr�u���  �� ��� � �����¾��� � ���~�[��� �°ó �   � � � � �Ë�  X� � � ø

�����¾��ë ô ë���� � �n���~� ��� �°ó �   � � ë��÷ðK�r�Ìï �M� ����ë����TðK� t �   ø¤ò � t �~��ë[� �
A
� ��� t îTëE���~�_��� �°ó �   � � îr�u��� � � ��órt �]� � ���  X� � � �����¾��ë

e ë�� ��� I �¾ô � L��¡mpo qa� �r� �M� t�t��Vô � � ���~�   �z� � �ìë��
3m

ë��÷ðK�r�Ìï �M� ���ºë����TðK� t �   ø¤ò � t �~��ëj� �
A

ô ���~�u� ���~�   � �   �
m

îr�u��� � � ��órt �
� � ���  X� � � �����¾��ë oÀV �b� t�t ���~� ë����TðK� t �   ø¤ò � t �~��ë�� �

A
�   �,öM�   �½�  ��ut �\ë��»��� öM�   � e¡� �~�u�

A
îr����ë}�~�¾�P� � ò·� � � �

ë��÷ðK�r�Ìï �M� ����ë����TðK� t �   ø¤ò � t �~� m�ô ���~�u�
���~�   � �   �b�~�[îr�u��� � � ��órt ��� � ���  X� � � �����¾��ë��������~�2îr� ��� ��� o
V �z���~� �M� ë�� � �~�   �_���~�   � �   �pîr�u��� � � ��órt � � � ���  X� � � �����¾��ëE���z���~�%îr� ��� ��� ôK� � �M� � ����í �_��ë��_� � ���~�%ë����TðK� t �   ø

ò·� � ���   ë­� �
A
��� t � �M� ���P���~� �
o¹Vw� � � �M� t�t

VS = [u1, u2, ..., un? ]
���~� ��� �   � � órt � ��íDó �r� t � � �����Íë��÷ðK�r�Ìï �M� ���

t � � �'ë����TðK� t �   ø¤ò·� � ���   ëb� �
A

ôr� �~�   �
n? �ìëC���~����� �°ó �   � � ���~��ë���ò·� � ���   ë ô ���~�u�

VSVS
T îr��ï~�~��ë����~�b�   ����� � �����¾�

�¾�����­���~��ë��÷ðK� � t ë�� �¾� �j� �
A
� ��î � � � �¾��ë��ìîr�  

P = I −VSVS
T ô�� �~�   �

I
�ìë[���~�

n×n
�ìîr�u������� ����� �   � �KôZ� �����

n > 3m
ozf �  Á� � � ���¾�����

z ∈ Ω
ô�t �u�l��ë�îr��ï~�~� v

Wc(z) := 1
‖Pgz,c‖2

ô,� �~�   �}���~� L øw�~�  ��
‖ . ‖2

�ìë � �r� t ����î
�~�   �}��� � ò·� � ���   � �

n
� � � �Ë�¾�~�u����ë ozq �~�}���¾�����

z
� �¾��� � �ìîr��ë � �����½���~� t � �M� �����¾�>� � � � � � ���  X� � � �����¾�½� �]� ��î

�¾� t�� � �
Pgz,c = 0

oaV �»���r�ìë � � �Vôr� � �M� � � �  ��
� ��� ��� ð·�l� � îr�u��� � ����î�� � ���  X� � � �����¾��ë ó�� � t �¾�������Tð
Wc
� � � �¾� �

���¾�����
z
� �

Ω
�J���~�   ��ë�� t �����Tð�� t �¾� � � t�t � � ò·� t �   ð·�l�Ë� ��í ë � �]���~� t � �M� �����¾��ë�� � ���~�b� � ���  X� � � �����¾��ë o

q �~�T�   � � ��ë�ë_�ìëpë�� � � t �   ���»���~� �M� ë�� � �~�   � � t�t ���~�T� � ���  X� � � �����¾��ë �   �T� t � � �   � ��� ðK�~�u��� �Konf �  
1 ≤ l, l′ ≤ n

ï � ��î ô�� ��î   �u� t �¾� ���Tð¹���~� � �r�   � � � ��� �����¾�>���
(22)

ó�� ���~�z� ��� � t ��� �Vô ���~�­���  �� ëb� � ���~� ��� �   � �
A
�   �z��� ���r�ìë

L |



�M� ë�� v
All′ = α3

m∑

j=1

[
k2( ε0

εj
− 1)

(
M j(ε0

εj
) θ⊥l

)
· θ⊥l′

− k2(µ0

µj
− 1)

(
M j(

µ0
µj

)(θl × θ⊥l )
)
· (θl′ × θ⊥l′ )

] � � k(θl+θl′ )·zj .

k � �2ô
gz,c

�ìë'îr��ï~�~��î � ë � � t�t � � ë v

gz,c :=





 c · θ⊥1

c · (θ1 × θ⊥1 )


 � � kθ1·z, ...,


 c · θ⊥n

c · (θn × θ⊥n )


 � � kθn·z




T

,

� �~�   �
c ∈ IR3 �ìë'ë�� � � � �¾��ë�� � ���'ò·� � ���   ë�� � ����� � �

c · θ⊥l 6= 0
ô�� ��î

c · (θ⊥l × θl) 6= 0
ôr� �  �� t�t

l = 1, ..., n
o

h � � �  �  ���Tð � ð � ��� ��� � I��¾ô � L��¾ô � � ���~�   �P� � �ìë��
5m

ë��÷ðK�r�Ìï �M� ���°ë����TðK� t �   ø¤ò � t �~��ël� �
A

ô ���~�u� ���~�   � �   �
m

îr��ø
��� � � ��órt �C� � ���  X� � � �����¾��ë ô�� ��îP� �U� t�t ���~��ë����TðK� t �   ø¤ò � t �~��ë_� �

A
�   �%öM�   ���  [�ut �\ë��C���ºöM�   � ô ���~�u�����~�   � �   �]�~��îr��ø

��� � � ��órt �a� � ���  X� � � �����¾��ë o Q ��� ��� ð·�a� � îr�u��� � ����îÁ� � �Ë�  X� � � �����¾��ëØ�ìë � t ë�� � �  �� ��î ó�� � t �¾�������Tð
Wc(z) = 1

‖Pgz,c‖2� �]� �¾� �����¾�����
z
� �

Ω
ôZ� �~�   �

P
�ìë ó �r� t � � ë �   ��ò����¾��ë t����¡  � � ë��÷ðK�r�Ìï �M� ��� t � � �pë����TðK� t �   ø¤ò·� � ���   ëj� �

A
ô
n > 5m�~� �2ôR� ��î����~� L øw�~�  ��

‖ . ‖2
�ìë � �r� t ����î
��� � �

n × 2
��� �   � �,o


 �   � ��� ���  uôË� �z�   ��ë �u���b��� � �   � �M� ta  ��ë�� t ��ëT� ó � � ���~��î �g  � � � � ���u��ë��÷ò·�¡ë�� � � t � �����¾��ëb��� � � ����í �­��ë��z� � ���~�
�   � � ��îJ�   � eg�p�Xo � y��¡mõó�� ë���î �¾�����r�ìë � �r�   � �¾� � o(W ��� � � ���~� ò��ìë�� � tT  �u�   ��ë �u��� � �����¾�5� � ���~� � �r� � �����¾� � t

Wcîr�u���u��îJ���Tðz���G� �   ��� � � t �   �¾�G���~�C� �   � � �u���  
c
�ìë   � ���r�   ��î ôr� t�t �¾�  n  ��ë�� t ��ë � � t�t6ó �'îr��ë �u  � ó ��î � �����   ��ë��Ë� � �n���

c
��� � îTîJ�������¾���������~�]� �   � � �u���   ë

µα
ô
εα
� ��î

τ
e ë � �

(21)
mpo 
 �   �]�   � � �ìë�� t��VôZ� ëa���~�'ë � � �]�   � � ��îJ�   ���u� � �  �� ��ë

� �P� t�t � � ��� � �����¾�G� � ���~��îr� ��� ���
Ω
ô ���~��ë �   ��ë�� t ��ë�ë��~�¾� t î ó ��îr��ë �u  � ó ��î � t ë�� � �����   ��ë���� � �d���b���~� ��� ��ó �  

n
� �

��� � �ìîr�u��� �_� ò·��ëa��ë���î}���b� t�t � � ��� � ���
Ω
o q �~��ë�� � � ò·��ë �   ��îr��ï~�~��î �g  � � � �   � � �����Ë�¾������ëa�r�r� � �  ��Pt�� îJ�ìë��   � ó �r����î

�¾�)���~� � � t�tMó �¾�r��î �  ��Vô
θl = (cos(2π l − 1

n − 1) sin(π l − 1
n − 1), sin(2π l − 1

n − 1) sin(π l − 1
n − 1), cos(π l − 1

n − 1))T
ô
1 ≤

l ≤ n
oiV � � ð·�u�~�   � t,� � �Vôr� � � � t�t�� �¾��ë��ìîr�  

n = 3m + 2
��� � �ìîr�u��� � � ò·��ë]���»���~� �M� ë��T� � � t � � �   � � �   ��� ðK�~�u��� �

� � ���  X� � � �����¾��ë ôR� ��î
n = 5m + 3

�������~� �M� ë��l� � ���~� t � �M� t �÷ö � �����¾� � � � t � � �   � ��� ðK�~�u��� � � � ���  X� � � �����¾��ë oaV �¹�¾�  
�   ��ë��u��� � �����¾�
� �   ��ë�� t ��ë ô�� � � � t�t ���~�u� ë���� � � �¡� ���~� � �~�¾� � �l� �

n
�¾� t���� �~�u�����%îJ���,�   ë �g  � �

3m + 2
�  

5m + 3� � t�t � � ���Tð����~� �M� ë � o
ñ �0ï � �~�   �

µ0 = ε0 = 1
odV �G�   îr�   ��� � � � � �   �����~�j��� � �   � �M� t�  ��ë�� t ��ë_� � ���~�j�   ��ò����¾��ëpë�� ó ë�� � �����¾� � �����

���~�\ë��P��� � � � � t�t�ó �P� ó � � ���~��î �~�   �P���>���~� �M� ë���� � ���~� t � �M� t �÷ö � �����¾��� �C� ë����Tð t �P� � ���  X� � � �����¾� e
m = 1

m�ôU� �
ï   ë�� � �¾��ë��ìîr�  l� �\ë��b� � ���~�}�   ��ò����¾��ë2ò � t �~��ël� �

τ
ô
µ1
� ��î

ε1
ôØ� ë � � t�t[� ë

Th1

ô
Th2

o­S �u�l��ë   � �M� t�t ��� � �l���~�
ë � � �b�~�¾� � �����¾� � ë ��ó �eò·� ô

p = (p1, p2, p3)
T ô �ìë]��ë���î¹���}����îJ� �M� ���Á���~� � �u�����   � � ���r�ìë�� � �Ë�  X� � � �����¾� o

f �÷ðK�   ��ë
13

ø
16
�   ��ë��u���   ��ë�� t ��ë}� ó � � ���~��î �¡  � � ���~�õï   ë�� t ��ò·� t � � ���~�   ��îJ� � ��î � ��ë�� ó�� � �¾��ë��ìîr�   ���Tð

µ1 = 1
ô
ε1 = 3, 5

ô
τ = 1.7 10−2, 2.6 10−2 � ��î c = (1.0,−2.0, 1.0)T o q �~��ë �   ��ë�� t ��ë � �¾� � �   �r���Tð>���~�

t � �M� �����¾� � � ���~��ë����Tð t ��� � ���  X� � � �����¾� ë�� � ��� �   � �¾� � �   � ���z��� � �9���~�\ë �Á� �[f �÷ðK�   ��ë
6
� ��î

7
� ó � � ���~��î ���9���~�

�   ��òZ���¾��ë0ë�� ó ë�� � �����¾� o
2_� ��ë����Tð �~� � ���~� ë�� � �¾��î t ��ò·� t � � ���~�   ��îJ� � ��î � ��ë������ ���~� t � �����  ­�M� ë�� e

µ1 = 1
� �����

ε1 = 5
m�ô � �

� ó � � ���
���~�   ��ë�� t ��ëC� �Ef �÷ðK�   �
17
o

q �~�¾�TðK� ë t �÷ðK��� t���t ��ë�ë �¾� � �   � ��� ô ���~��ë��   ��ë�� t ��ë �   �2ë�� � � t �   ���P���~�\ë��Á� �df �÷ðK�   �
16
� ó � � ���~��î � �C���~�°ë � � �

�g  � ���~�u� �u� � ��î � �����9���~��ë � � �2ò � t �~�z� � ���~�Á� �   � � �u���  
c
ojW � � � t �  b� �¾� �ut ��ë����¾��ë �   � � t ë��   � �¾� �~��î � �~�u� � �
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x = p1
e � � t � � � m � ��î � �  �  ��ë����¾��îJ���Tð � �¾�����¾�   øw� t �¾� e � �   �÷ðK��� m�ô~�¡  � �

Th1� ��î � �����
µ1 = 1

ô
ε1 = 3

ô
τ = 1.7 10−2 ô c = (1.0,−2.0, 1.0)T o
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y = p2
e � � t � � � mC� ��î � �  �  ��ë��Ë�¾��îJ���Tð � �¾�����¾�   øw� t �¾� e � �   �÷ðK��� m�ôr�¡  � �

Th1� ��î � �����
µ1 = 1

ô
ε1 = 3

ô
τ = 1.7 10−2 ô c = (1.0,−2.0, 1.0)T o
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z = p3
e � � t � � � m � ��î � �  �  ��ë��Ë�¾��îJ���Tð � �¾�����¾�   øw� t �¾� e � �   �÷ðK��� m�ô~�¡  � �

Th1� ��î � �����
µ1 = 1

ô
ε1 = 3

ô
τ = 1.7 10−2 ô c = (1.0,−2.0, 1.0)T o
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x = p1
ô
y = p2

� ��î
z = p3

ôU�¡  � �
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µ1 = 1
ô
ε1 = 5

ô
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x = p1
ô
y = p2

� ��î
z = p3
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µ1 = 1
ô
ε1 = 5

ô
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� � � � �   �G���~�   ��ë�� t ��ë­� �Cf �÷ðK�   ��ë
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ø
15
� ����� ���~�\ë��G� ó � � ���~��î � �����)���~�õë � � �±ò � t �~��ë­� � � �   � � �u���   ë ó �r�

�g  � �
Th2

olfr  � � ���r�ìëb���¾�����l�¾� ôË� �­�   � � �l�¾� t�� � � �Ë�   � � �u����ë ó�� ë���î �¾�
Th2

ô îJ�~�­���G���~�­� � � ���u� �u� ��� ^_Oa\
��� � � � �   ë�� � � t � �����¾��ë � �����
���r�ìë'ë�� � �¾��î t ��ò·� t � � ���~�   ��îJ� � ��î � ��ë�� � ��î����~� � �¾� �]��� � �����~��îJ�����   �u� � ��� � ���~�
t � �M� t �÷ö � �����¾�   ��ë�� t ��ë ô9ó �u� � � �u�

Th1

� ��î
Th2

ô �ìë]�~�¾�C��� � �   � �M� t�t�� ò·�  �� ë��÷ðK�r�Ìï �M� ��� o
S �u�_��ë � t ë�� � �u�������¾����� � ð·�u�~�   � t��_� � ��� � �_���~� � �~�¾� � �b� � ò � t �~��ën� �

c
� � t�t�� t�� � � ë ó ��îr�¾�~� � ëpîr��ë �u  � ó ��î

� �[���~� ó ��ðK���r�r���Tð­� � ���r�ìë%ë�� ó ë�� � �����¾� � ��î���� � � �¾���~�  ]� î � �ìë�ë�� órt ��ò � t �~��ë � �   ���r�ìë_� �   � � �u���  _t ��î����Á���~��ë � � �
í ����î�� �i  ��ë�� t ��ë � ë]�~�   � o
Q ë � t�  � � î � � ó ë��   ò·��îÁ��� f �÷ðK�   �

12
ô � �~�u�Á���~�[�   � � ��îJ�   � ó�� ë���î��¾�Á���~� ^ �  �  �u��� Od  ����� � �����¾� �_� ë ��ë���î ô ���~�
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x = p1
ô
y = p2

� ��î
z = p3

ôU�¡  � �
Th2� ��î � �����

µ1 = 10
ô
ε1 = 1

ô
τ = 8.2 10−3 ô c = (−1.0, 1.0, 1.0)T o
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τ
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� � ���~�[îr� ��� ��� o�q �~�   ��ë�� t ��ë°ë�� � � ë t �÷ðK��� t�� � �   � �¾� � �   � ���P���>���~� �M� ë��P� � � t � � �   � � � � ���  X� � � �����¾��ëÁ��� � �>���
�¾���~�  ��M� ë���ë ô ����îr�u�Ë�u��îr�u��� t�� � � ���~� � �¾��ë��ìîr�   ��î   ��îJ� � ��î � ��ë��~��ë o
� A � (�U ��� I  U � E9Q L � UVQ !MI CwQ L �qJ IKJ �wJ � Q�UHC�Q ( � � U � Q�U)@!Q � G �¿L
V �)���r�ìë t � ë��[ë�� ó ë�� � �����¾� ôn� � îr��ë �u  � ó �����~�¹��� � �   � �M� tC  ��ë�� t ��ë�� ó � � ���~��î �g  � � � �   � � ��îJ�   � � � � ��î � t ë�� � �
t � �M� t �÷ö ���Tð � ë����Tð t �­� � ���  X� � � �����¾� � ë � � t�t[� ë � � t ����� t �P� � ���  X� � � �����¾��ë oÁQ ëT�   ��ë��u������î ��� � y��¾ô ���r�ìëb�   � � ��îJ�   �
����í ��ë ��ë��b� � ���~� � ë �Z� �r���¾��� �T� �  �� � t �

(16)
� ��î»� � ���~�b�   �÷ðK��� � t �ìîr� � � �E^ � t îr�  �� � � N��,� �r� � � � � ë]���   ��îJ� � �

���~� t � �M� t �÷ö � �����¾�)�   � órt � � ���
���~� �M� t�� � t � �����¾�)� ��� �����Hò·�   ë�� f �¾�   ���   �   � ��ë � �  ��
o�S �u�z��ë�ï   ë��­� ��� t�t[  � �M� t�t
ór  ����� � ���~�b�   ��� � ��� t �Á� � ���r�ìë]�   � � ��îJ�   � ó��»  � � �¾��ë��ìîr�   ���TðG���~� � �  �� � t �

(16)
� ë � � t�t � � ë v

Γ :=

∫
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